F223EATOVIRBTT7T—F ) —BHEHER
201348218 (H) ™

KNENESES
5PN SN 544
RC—i&5EF
B2 K £ EHERXA 50M 30M =X 1038 X3
1 EHHEBX it X 275 322 597 15 2
2 JIIEEZ BERX 274 323 597 10 5
3 XRERE WAERX 268 326 594 19 7
4 hE EH Z2EX 267 323 590 10 3
5 WX R FEX 258 323 581 15 8
6 #XH FHt FEX 260 318 578 14 9
7 EK IEH RiAiX 246 327 573 16 5
8 FEHEFS RIEX 257 312 569 9 2
9 BERIEF BERX 256 308 564 12 8
10 ## HE— FEX 257 305 562 15 3
11 &k =i RiAiX 246 314 560 11 4
12 FEEX B 254 304 558 10 5
13 FHEHEK WAEX 244 311 555 8 2
14 H RE FEX 234 305 539 7 2
15 FHE 3 it X 236 299 535 8 2
16 UK RF it X 250 284 534 7 2
17 5 RK Z2EX 226 289 515 7 1
18 BA =¥ it X 221 289 510 4 1
19 K#k ## WER 209 296 505 12 2
20 EHiE iR 219 280 499 3 0
21 B feH FEX 206 257 463 3 0
22 HHEE FEX 201 261 462 7 1
23 B EX HEX 172 284 456 1 0
24 )l EE RIEX 181 274 455 3 2
25 FxH 2 it X 188 266 454 3 2
26 = B it X 205 241 446 5 2
27 LA EH FEX 132 265 397 7 3
28 EH E# 2EX 159 221 380 4 3
Ri5154
RC—& & F
JIE {32 K 4 EX4A 50M 30M =51 1038 X3
1 BEERF HEX 269 299 568 11 5
2 EEEE¥F i 239 315 554 11 5
3 Uk EOF WAERX 246 284 530 8 2
4 GREREF FEX 206 292 498 7 1
Ri58%
CP—i& B+
JIE {32 K £ X4 50M 30M &t 105k XE
1 HER= WERX 306 340 646 24 12
2 MHEE Z2EX 293 328 621 22 3
3 HiE FR BERX 287 329 616 16 4
4 Rk oz BERX 285 323 608 14 6
5 MEEBEx it X 264 314 578 16 3
Ri55%
CP—lg%&F

Ri51%, SMEGL




BB—#& B F

B2 K £ ERX A 50M 30M &5 103k X£
1 HEELCE R X 237 275 512 8 3
2 JIF =8B kX 272 169 441 5 2
S S =B 156 257 413 2 1

RiZ14
BB— X F

JIE {32 K £ EixX 4 50M 30M =1 105k XE
1 IhNE BSCH i X 155 270 425 3 2
2 ERKREF RN 152 262 414 4 1

30mWEF

JIE {32 K % ERX4A 30M 30M =5 103K e
1 SH &= FEX 280 296 576 8 3
2 FPEBLE i 270 283 553 6 3
3 B BkEx FEX 253 296 549 3 1
4  BR EH BERX 270 249 519 3 2
5 BEAKEX FEX 218 254 472 3 1
6 %H B R X 207 254 461 3 0
7 F X R X 163 186 349 1 0
8 FEX IR BEX 83 151 234 0 2

3I0MmWZF

JIE {32 K £ EixX 4 30M 30M =1 103k XE
1 FBRR Ef=x FEX 236 268 504 6 2
2 EfRE FEX 232 252 484 3 0
3 MAZEFZREF HEEX 205 247 452 2 0

30mW BBBF

JE 152 K £ ERX A 30M 30M = 103k XE
1 RN B¥F RIS 188 169 357 2 1

ERE DA

[=Riva X% K £ 50M 30M &% gt
AR % 258 323 581

1 FEX I H FHH 260 318 578 1727
HE ERF 269 299 568
KiE RE 268 326 594

2 WIERX [FHEFS 257 312 569 1721
EEEFS 254 304 558
=5k IEEA 246 327 573

3 X k% =it 246 314 560 1687
EEE BEF 239 315 554
B #X 275 322 597

4 i X H b i 236 299 535 1666
WA BFE] 250 284 534
A ETE 267 323 590

5 E2ERX =2 BEKR 226 289 515 1518
LB flik 156 257 413
Nkt zF= 274 323 597

6 BEX BARTF 256 308 564 1161

Lol




